B APNaLS_4eALA
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alphal3_4eX1X:cyclenum {run == 7632}

I
5
I
;

[
T

9120 9120.5 9121 91215 9122

cyclenum

deltad46_12X4eY:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum

alpha4b_4ey4ay

7634

7633.5

7633

7632.5

7632

7631.5

7631

7630.5

7630

alpha46_4eY4aY:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

run:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

segment:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 7632}

P -
e e e eeeeamaenaaaaan .-

9120 9120.5 9121 91215 9122
cyclenum

usl_4eY:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

usl_12X:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

usl_sex

7634

7633.5

7633

7632.5

7632

7631.5

7631

7630.5

7630

usl_4eX:cyclenum {run == 7632}

[

9120 9120.5 9121 91215 9122
cyclenum

run:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 7632}

P -
e e e eeeeamaenaaaaan .-

9120 9120.5 9121 91215 9122
cyclenum

usr_4eY:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

usr_12X:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

usr_aex

7634

7633.5

7633

7632.5

7632

7631.5

7631

7630.5

7630

usr_4eX:cyclenum {run == 7632}

[

9120 9120.5 9121 91215 9122
cyclenum

run:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum



6229.5

16229

6228.5

16228

6227.5

2441.2

2441.4F
2441.6 F
2441.8F
-2442F
24422 F

2442 4F

2442.6

24428 F
—2443F

24432 F

2443.4

usl_coill:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

usl_coil6:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum

usl_cols

usl_coll/

[

0.5

[

0.5

usl_coil3:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

usl_coil7:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

[

usl_coll4

05

7634

7633.5

7633

7632.5

7632

7631.5

7631

7630.5

7630

usl_coil4:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

run:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum




14946

4946.5

14947

4947.5

14948

-3126

3126.5

-3127

3127.5

-3128

usr_coill:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

usr_coil6:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum

[

usr_col3

0.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

usr_coil7:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum

usr_coll4
=

05

7634

7633.5

7633

7632.5

7632

7631.5

7631

7630.5

7630

usr_coil4:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

run:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum




-126.6

-126.8 F
-127F
-127.2F

-127.4F

-127.6
-127.8

-128

-128.2F
-128.4F
-128.6 F

-128.8F

-232

-232.5

-233

-233.5

-234

1X_coill:cyclenum {run == 7632}

Eol v v by v by v b n sy 1y
9120 9120.5 9121 91215 9122
cyclenum

4eX_coill:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum

1X_coll3
=

0.5

4ex_colls
=

0.5

1X_coil3:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

4eX_coil3:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

1X_coll/

4eXx_coll/

[

05

[

05

1X_coil7:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

4eX_coil7:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum




4dY_consd

4eY_cond

0.5

4aY_coild:cyclenum {run == 7632}

=

9120 9120.5 9121 91215 9122

cyclenum

4eY_coild:cyclenum {run == 7632}

1

9120 9120.5 9121 9121.5 9122
cyclenum

-102

-102.5

-103

-103.5

-104

-125

-125.5

-126

-126.5

-127

4aY_coil6:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

4eY_coil6:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

4eY_coil7:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122

cyclenum



12X_coill:cyclenum {run == 7632}

-231.5

-232-

-232.5

-233

-233.5

9120 9120.5 9121 91215 9122
cyclenum

12X_coil6:cyclenum {run == 7632}

~

12X_coilé

55
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9120 9120.5 9121 9121.5 9122
cyclenum

12X_coil3
=

0.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

12X_coil7:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122

cyclenum

12X_coll4
=

05

7634

7633.5

7633

7632.5

7632

7631.5

7631

7630.5

7630

12X_coil4:cyclenum {run == 7632}

9120 9120.5 9121 91215 9122
cyclenum

run:cyclenum {run == 7632}

9120 9120.5 9121 9121.5 9122
cyclenum




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


